
ldltM 2070.5.4

ljj/)f jh]̂  cg";f/ o; dlxgf ;Ddsf] ljj/)f jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       -                

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         4,048.00       1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         146,130.00      1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       -           1=1=4 jLdf lk|ldod vr{ 225,000.00         -                

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        -                

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        -                

1=1=7 ;Dklts/ 1,500,000.00       234,114.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         -                

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         4,320.00       1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        -                

1=3=2 gS;fkf; b:t"/ 1,500,000.00       72,524.00      2=2 ;Grf/ dxz'n 150,000.00        -                

1=3=3 l;kmfl/; b:t"/ 700,000.00        65,820.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        -                

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         2,600.00       2=5 dd{t ;+Def/ 200,000.00        -                

1=3=5 cGo b:t"/ 25,000.00         -           2=6 O{Gwg 200,000.00        -                

1=4=3 cGo ljqmL 150,000.00         5,500.00       2=6=3 cGo O{Gwg 10,000.00         -                

1=5=2 cGo ;|f]t kl/rfng 25,000.00         -           2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        23,800.00      2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        -                

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        -                

1=7=6 cGo ljljw cfo 100,000.00        1,200.00       3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       -                

hDdf M 5,925,000.00       560,056.00      4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      -           4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        -                

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       -           4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        -                

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       -                

/lhi «̂]zg b:t"/ 2,000,000.00       4=9 ;*saQL ;DaGwL vr{ 100,000.00        -                

1=10 cGo cg"bfg 7,000,000.00       -           9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       -           12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      -                

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       6,979,198.37     6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      -                

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         -                

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      -                

cfGtl/s>f]t / jfXo>f]t u/L hDdf M 66,949,500.00       7,539,254.37     rfn" / k'+hLut vr{ u/L hDdf M 66,949,500.00      -                

s]zaaxfb"/ >]i& odsfGt kf)*]o

n]vf clws[t sfo{sf/L clws[t

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

o; sfofnosf] cf=j=2070.71 sf] 2070 >fj)f dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .



ldltM 2070.6.3

o; sfofnosf] cf=j=2070.71 sf] 2070 efb| dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       476,069.00           

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         23,320.00       1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       171,480.00     1=1=4 jLdf lk|ldod vr{ 225,000.00         7,800.00            

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        41,000.00           

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        -                

1=1=7 ;Dklts/ 1,500,000.00       345,794.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         -                

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         22,747.00      1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        16,825.00            

1=3=2 gS;fkf; b:t"/ 1,500,000.00       109,217.00      2=2 ;Grf/ dxz'n 150,000.00        13,949.47            

1=3=3 l;kmfl/; b:t"/ 700,000.00        106,886.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        23,200.00            

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         4,850.00       2=5 dd{t ;+Def/ 200,000.00        -                

1=3=5 cGo b:t"/ 25,000.00         -           2=6 O{Gwg 200,000.00        -                

1=4=3 cGo ljqmL 150,000.00         8,000.00       2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         -           2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        54,400.00      2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        -                

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        -                

1=7=6 cGo ljljw cfo 100,000.00        1,200.00       3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       -                

hDdf M 5,925,000.00       847,894.00     4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      -           4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        -                

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       -           4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        183,042.50           

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       80,523.00           

/lhi «̂]zg b:t"/ 2,000,000.00       4=9 ;*saQL ;DaGwL vr{ 100,000.00        30,489.00           

1=10 cGo cg"bfg 7,000,000.00       -           9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       1,701,072.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      874,432.97           

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       8,680,270.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      -                

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         -                

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      -                

66,949,500.00       9,528,164.37     66,949,500.00      874,432.97           

s]zaaxfb"/ >]i& odsfGt kf)*]o

n]vf clws[t sfo{sf/L clws[t

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{



ldltM 2070.7.5

o; sfofnosf] cf=j=2070.71 sf] 2070 c;f]h dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       1,927,120.00          

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         29,380.00      1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       238,195.00      1=1=4 jLdf lk|ldod vr{ 225,000.00         15,000.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        121,000.00           

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        -                

1=1=7 ;Dklts/ 1,500,000.00       524,239.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         49,730.00      1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        16,825.00            

1=3=2 gS;fkf; b:t"/ 1,500,000.00       242,529.00     2=2 ;Grf/ dxz'n 150,000.00        18,861.19            

1=3=3 l;kmfl/; b:t"/ 700,000.00        176,982.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        36,100.00            

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         10,650.00      2=5 dd{t ;+Def/ 200,000.00        22,194.00            

1=3=5 cGo b:t"/ 25,000.00         25.00         2=6 O{Gwg 200,000.00        78,522.81            

1=4=3 cGo ljqmL 150,000.00         13,500.00      2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         400.00        2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        54,400.00      2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        -                

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        42,335.00            

1=7=6 cGo ljljw cfo 100,000.00        88,805.00      3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       2,401,500.00         

hDdf M 5,925,000.00       1,428,835.00    4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      -           4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        57,960.00           

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       2,152,000.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        850,176.59           

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       320,547.99           

/lhi «̂]zg b:t"/ 2,000,000.00       4=9 ;*saQL ;DaGwL vr{ 100,000.00        120,257.00           

1=10 cGo cg"bfg 7,000,000.00       2,401,500.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       1,871,352.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      6,040,074.58         

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       13,404,050.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      176,993.00           

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         -                

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      176,993.00           

66,949,500.00       14,832,885.37    66,949,500.00      6,217,067.58          

s]zaaxfb"/ >]i& odsfGt kf)*]o

n]vf clws[t sfo{sf/L clws[t

ljb'/ gu/kflnsf sfof{no

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
o; dlxgf ;Ddsf] vr{jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f
jh]̂  cg";f/



ldltM 2070.8.6

o; sfofnosf] cf=j=2070.71 sf] 2070 sflt{s dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       2,418,594.00         

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         29,380.00      1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       254,155.00      1=1=4 jLdf lk|ldod vr{ 225,000.00         18,600.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        161,000.00           

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,500,000.00       583,287.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         56,289.00      1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        16,825.00            

1=3=2 gS;fkf; b:t"/ 1,500,000.00       307,981.00      2=2 ;Grf/ dxz'n 150,000.00        25,946.19            

1=3=3 l;kmfl/; b:t"/ 700,000.00        215,581.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        105,958.00           

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         17,950.00      2=5 dd{t ;+Def/ 200,000.00        134,194.00           

1=3=5 cGo b:t"/ 25,000.00         2,025.00       2=6 O{Gwg 200,000.00        78,522.81            

1=4=3 cGo ljqmL 150,000.00         14,500.00      2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         1,200.00       2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        273,400.00     2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        -                

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        42,335.00            

1=7=6 cGo ljljw cfo 100,000.00        88,805.00      3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       2,401,500.00         

hDdf M 5,925,000.00       1,844,553.00    4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      -           4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        63,970.00            

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       2,502,000.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        1,051,608.99          

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       421,410.99           

/lhi «̂]zg b:t"/ 2,000,000.00       4=9 ;*saQL ;DaGwL vr{ 100,000.00        150,746.00           

1=10 cGo cg"bfg 7,000,000.00       2,401,500.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       1,871,352.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      7,110,885.98         

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       13,754,050.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      176,993.00           

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         -                

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      176,993.00           

66,949,500.00       15,598,603.37    66,949,500.00      7,287,878.98         

s]zaaxfb"/ >]i& odsfGt kf)*]o

n]vf clws[t sfo{sf/L clws[t

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f
jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



ldltM 2070.9.4

o; sfofnosf] cf=j=2070.71 sf] 2070 d+l;/ dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       2,911,719.00          

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         37,060.00      1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       272,955.00      1=1=4 jLdf lk|ldod vr{ 225,000.00         22,200.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        201,000.00          

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,500,000.00       686,341.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         62,328.00       1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        38,794.21            

1=3=2 gS;fkf; b:t"/ 1,500,000.00       472,703.00      2=2 ;Grf/ dxz'n 150,000.00        35,104.98           

1=3=3 l;kmfl/; b:t"/ 700,000.00        280,175.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        106,958.00           

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         25,550.00      2=5 dd{t ;+Def/ 200,000.00        134,194.00           

1=3=5 cGo b:t"/ 25,000.00         2,025.00       2=6 O{Gwg 200,000.00        78,522.81            

1=4=3 cGo ljqmL 150,000.00         22,000.00      2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         1,200.00       2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        300,400.00     2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        -                

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        42,335.00            

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       2,401,500.00         

hDdf M 5,925,000.00       2,252,742.00    4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      -           4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        63,970.00            

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       4,654,000.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        1,252,843.23          

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       501,933.99           

/lhi «̂]zg b:t"/ 2,000,000.00       1,716,543.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        181,235.00           

1=10 cGo cg"bfg 7,000,000.00       2,401,500.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       1,871,352.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      7,991,985.22          

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       17,622,593.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      184,993.00           

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         -                

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      184,993.00           

66,949,500.00       19,875,335.37    66,949,500.00      8,176,978.22          

s]zaaxfb"/ >]i& odsfGt kf)*]o

n]vf clws[t sfo{sf/L clws[t

jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f



ldltM 2070.10.6

o; sfofnosf] cf=j=2070.71 sf] 2070 kf}if dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       2,928,669.00          

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         48,871.00      1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       324,475.00     1=1=4 jLdf lk|ldod vr{ 225,000.00         22,200.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        201,000.00          

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,500,000.00       834,721.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         71,122.00       1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        38,794.21            

1=3=2 gS;fkf; b:t"/ 1,500,000.00       639,122.00      2=2 ;Grf/ dxz'n 150,000.00        39,880.97           

1=3=3 l;kmfl/; b:t"/ 700,000.00        372,272.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        213,998.00           

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         40,350.00      2=5 dd{t ;+Def/ 200,000.00        134,194.00           

1=3=5 cGo b:t"/ 25,000.00         2,045.00       2=6 O{Gwg 200,000.00        143,883.81           

1=4=3 cGo ljqmL 150,000.00         28,500.00      2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         1,200.00       2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        327,800.00     2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        -                

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        51,225.00            

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       2,401,500.00         

hDdf M 5,925,000.00       2,780,483.00    4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      5,269,333.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        63,970.00            

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       11,980,666.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        1,413,353.73          

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       501,933.99           

/lhi «̂]zg b:t"/ 2,000,000.00       1,716,543.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        292,647.50           

1=10 cGo cg"bfg 7,000,000.00       2,401,500.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       2,025,352.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      8,466,925.21          

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       30,372,592.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      263,557.11           

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         87,989.65           

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      351,546.76           

66,949,500.00       33,153,075.37    66,949,500.00      8,818,471.97         

s]zaaxfb"/ >]i&

n]vf clws[t sfo{sf/L clws[t

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f
jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



ldltM 2070.11.4

o; sfofnosf] cf=j=2070.71 sf] 2070 df# dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,400,000.00       3,406,861.00          

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         63,019.00       1=1=3 sd{rf/L sNof)f sf]if 410,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       774,950.00     1=1=4 jLdf lk|ldod vr{ 225,000.00         25,800.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 140,000.00        241,000.00          

1=1=6=2 k^s] ;jf/Ls/ 10,000.00         -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,500,000.00       960,686.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 4,000.00          -           1=4 kf]zfs 365,000.00         -                

1=1=9 lj!fkgs/ 50,000.00         -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 25,000.00         91,652.00       1=6 cf}iflw pkrf/ 235,000.00         -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        53,067.79            

1=3=2 gS;fkf; b:t"/ 1,500,000.00       1,071,402.00    2=2 ;Grf/ dxz'n 150,000.00        51,471.39            

1=3=3 l;kmfl/; b:t"/ 700,000.00        439,658.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 600,000.00        214,248.00          

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         45,450.00      2=5 dd{t ;+Def/ 200,000.00        134,194.00           

1=3=5 cGo b:t"/ 25,000.00         2,045.00       2=6 O{Gwg 200,000.00        143,883.81           

1=4=3 cGo ljqmL 150,000.00         40,000.00      2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         1,200.00       2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 450,000.00        354,800.00     2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        2,510.00            

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        60,805.00           

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      3=4 ;fdflhs ;"/Iff cg"bfg 7,000,000.00       2,401,500.00         

hDdf M 5,925,000.00       3,934,867.00    4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,800,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 10,850,000.00      5,269,333.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        63,970.00            

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 11,953,000.00       11,980,666.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 835,000.00        -                

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,010,000.00       582,819.99           

/lhi «̂]zg b:t"/ 2,000,000.00       1,716,543.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        -                

1=10 cGo cg"bfg 7,000,000.00       2,401,500.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 26,124,500.00       2,025,352.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,097,000.00       6,979,198.37     hDdf M 20,645,000.00      7,401,805.98         

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 61,024,500.00       30,372,592.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5 ;fj{hlgs lgdf{)f 46,144,500.00      2,476,567.34          

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 20,000.00         87,989.65           

10=2 jfXoC)fsf] ;f+jf e"QmfgL -              -                

hDdf M 46,304,500.00      2,564,556.99          

66,949,500.00        66,949,500.00      9,966,362.97          

s]zaaxfb"/ >]i&

n]vf clws[t sfo{sf/L clws[t

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

jh]̂  cg";f/

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f
o; dlxgf ;Ddsf] vr{



ldltM 2070.12.5

o; sfofnosf] cf=j=2070.71 sf] 2070 kmfNu")f dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00       3,406,861.00          

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         63,019.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       774,950.00     1=1=4 jLdf lk|ldod vr{ 75,000.00         25,800.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 400,000.00        241,000.00          

1=1=6=2 k^s] ;jf/Ls/ 5,000.00          -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,700,000.00       960,686.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 3,000.00          -           1=4 kf]zfs 250,000.00        -                

1=1=9 lj!fkgs/ 5,000.00          -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00         91,652.00       1=6 cf}iflw pkrf/ 250,000.00        -                

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        53,067.79            

1=3=2 gS;fkf; b:t"/ 1,700,000.00       1,071,402.00    2=2 ;Grf/ dxz'n 150,000.00        51,471.39            

1=3=3 l;kmfl/; b:t"/ 700,000.00        439,658.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00        214,248.00          

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         45,450.00      2=5 dd{t ;+Def/ 250,000.00        134,194.00           

1=3=5 cGo b:t"/ 25,000.00         2,045.00       2=6 O{Gwg 200,000.00        143,883.81           

1=4=3 cGo ljqmL 100,000.00        40,000.00      2=6=3 cGo O{Gwg 10,000.00         1,535.00             

1=5=2 cGo ;|f]t kl/rfng 25,000.00         1,200.00       2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 470,000.00        354,800.00     2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        2,510.00            

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        60,805.00           

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      3=4 ;fdflhs ;"/Iff cg"bfg 8,830,000.00       2,401,500.00         

hDdf M 6,269,000.00        3,934,867.00    4=3 k":ts tyf ;fdu|L 10,000.00         -                

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,274,000.00       -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,604,000.00       5,269,333.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        63,970.00            

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 18,570,000.00      11,980,666.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,300,000.00       -                

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00       582,819.99           

/lhi «̂]zg b:t"/ 4,000,000.00       1,716,543.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        -                

1=10 cGo cg"bfg 8,800,000.00       2,401,500.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 25,500,000.00      2,025,352.00     12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,455,000.00       6,979,198.37     hDdf M 23,764,000.00       7,401,805.98         

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         -                

hDdf M 69,929,000.00       30,372,592.37    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5                        52,094,000.00      2,476,567.34          

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 200,000.00        87,989.65           

hDdf M 52,434,000.00      2,564,556.99          

76,198,000.00       34,307,459.37    76,198,000.00      9,966,362.97          

s]zaaxfb"/ >]i&

n]vf clws[t                                    sfo{sf/L clws[t

ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{no

o; dlxgf ;Ddsf] vr{
ljj/)f

jh]̂  cg";f/



ldltM 2071.1.4

o; sfofnosf] cf=j=2070.71 sf] 2070 r}q dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00       4,458,564.00         

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         71,179.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       831,805.00     1=1=4 jLdf lk|ldod vr{ 75,000.00         33,000.00            

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 400,000.00        321,000.00           

1=1=6=2 k^s] ;jf/Ls/ 5,000.00          -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,700,000.00       1,209,934.00    1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 3,000.00          -           1=4 kf]zfs 250,000.00        232,500.00           

1=1=9 lj!fkgs/ 5,000.00          -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00         125,389.00      1=6 cf}iflw pkrf/ 250,000.00        231,750.00           

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        92,291.67            

1=3=2 gS;fkf; b:t"/ 1,700,000.00       1,677,177.00     2=2 ;Grf/ dxz'n 150,000.00        68,284.36            

1=3=3 l;kmfl/; b:t"/ 700,000.00        583,187.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00        483,624.80          

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         53,250.00      2=5 dd{t ;+Def/ 250,000.00        140,084.00          

1=3=5 cGo b:t"/ 25,000.00         2,045.00       2=6 O{Gwg 200,000.00        167,827.81           

1=4=3 cGo ljqmL 100,000.00        61,500.00      2=6=3 cGo O{Gwg 10,000.00         3,070.00            

1=5=2 cGo ;|f]t kl/rfng 25,000.00         1,600.00       2=8=1 ;b:otf z"Ns 50,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          -           2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 470,000.00        408,800.00     2=8=3 k"/:sf/ 15,000.00         -                

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=4 kl/ifb ;Grfng vr{ 100,000.00        21,020.00            

1=7=5 k]ZsL lkmtf{ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        80,765.00           

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      3=4 ;fdflhs ;"/Iff cg"bfg 8,830,000.00       5,703,000.00         

hDdf M 6,269,000.00        5,115,871.00     4=3 k":ts tyf ;fdu|L 10,000.00         2,440.00            

v_ jfXo >f]t cfDbfgL 4=4 sfo{qmd vr{ 1,274,000.00       33,000.00            

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,604,000.00       6,402,665.00    4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        106,645.00           

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 18,570,000.00      12,367,666.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,300,000.00       851,379.35           

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00       784,454.97          

/lhi «̂]zg b:t"/ 4,000,000.00       1,716,543.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        71,160.00            

1=10 cGo cg"bfg 8,800,000.00       5,403,000.00    9=1 e}k/L cfpg] vr{ 10,000.00         -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

1=13=2 nfut ;xeflutf 25,500,000.00      11,090,456.75    12 lkmtf{ vr{ 10,000.00         -                

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,455,000.00       6,979,198.37     hDdf M 23,764,000.00       13,904,000.96         

1=23 gub -              u2=2=2 k'+hLut vr{

6=1 kmlg{r/ 20,000.00         20,000.35            

hDdf M 69,929,000.00       43,959,529.12    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

6=5                        52,094,000.00      10,140,330.52         

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 200,000.00        87,989.65           

hDdf M 52,434,000.00      10,248,320.52         

76,198,000.00       49,075,400.12   76,198,000.00      24,152,321.48         

s]zaaxfb"/ >]i&

n]vf clws[t sfo{sf/L clws[t

jh]̂  cg";f/
o; dlxgf ;Ddsf] 

cfDbfgL

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljj/)f

ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{

ljb'/ gu/kflnsf sfof{no



ldltM 2071.2.1

o; sfofnosf] cf=j=2070.71 sf] 2071 j}zfv dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00       5,463,092.00         

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         73,683.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00        -                

1=1=5 Jojzfos/ 1,200,000.00       871,645.00     1=1=4 jLdf lk|ldod vr{ 75,000.00         40,000.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 400,000.00        400,000.00          

1=1=6=2 k^s] ;jf/Ls/ 5,000.00          -           1=2=3 j}&s eQf 200,000.00        8,000.00            

1=1=7 ;Dklts/ 1,700,000.00       1,323,745.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 3,000.00          -           1=4 kf]zfs 250,000.00        232,500.00           

1=1=9 lj!fkgs/ 5,000.00          -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00         140,782.00     1=6 cf}iflw pkrf/ 250,000.00        231,750.00           

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        99,036.15            

1=3=2 gS;fkf; b:t"/ 1,700,000.00       1,966,781.00     2=2 ;Grf/ dxz'n 150,000.00        78,976.55            

1=3=3 l;kmfl/; b:t"/ 700,000.00        676,203.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00        489,024.80          

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         59,250.00      2=5 dd{t ;+Def/ 250,000.00        140,084.00          

1=3=5 cGo b:t"/ 25,000.00         2,065.00       2=6 O{Gwg 200,000.00        201,799.71           

1=4=3 cGo ljqmL 100,000.00        101,400.00     2=6=3 cGo O{Gwg 10,000.00         3,070.00            

1=5=1 ;fj{hlgs lghL ;fem]bf/L -              -           2=8=1 ;b:otf z"Ns 50,000.00         -                

1=5=2 cGo ;|f]t kl/rfng 25,000.00         2,000.00       2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          3,100.00       2=8=3 k"/:sf/ 15,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 470,000.00        435,800.00     2=8=4 kl/ifb ;Grfng vr{ 100,000.00        21,020.00            

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        102,665.00           

1=7=5 k]ZsL lkmtf{ 10,000.00         -           3=4 ;fdflhs ;"/Iff cg"bfg 8,830,000.00       5,703,000.00         

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      4=3 k":ts tyf ;fdu|L 10,000.00         2,440.00            

hDdf M 6,249,000.00       5,746,459.00    4=4 sfo{qmd vr{ 1,274,000.00       33,000.00            

v_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        121,645.00           

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,604,000.00       9,604,000.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,300,000.00       259,404.87          

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 18,570,000.00      18,183,000.00   4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00       966,547.85           

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       -           4=9 ;*saQL ;DaGwL vr{ 100,000.00        30,610.00            

/lhi «̂]zg b:t"/ 4,000,000.00       3,024,539.89    9=1 e}k/L cfpg] vr{ 10,000.00         -                

1=10 cGo cg"bfg 8,800,000.00       5,403,000.00    11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00         -                

1=13=2 nfut ;xeflutf 25,500,000.00      22,646,154.75    hDdf M 23,764,000.00       14,637,805.93         

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,455,000.00       6,979,198.37     u2=2=2 k'+hLut vr{

1=23 gub -              6=1 kmlg{r/ 20,000.00         20,000.35            

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

hDdf M 69,929,000.00       65,839,893.01    6=5                        52,094,000.00      18,951,665.10         

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 200,000.00        87,989.65           

hDdf M 52,434,000.00      19,059,655.10         

76,178,000.00       71,586,352.01    76,198,000.00      33,697,461.03         

s]zaaxfb"/ >]i&

n]vf clws[t sfo{sf/L clws[t

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
o; dlxgf ;Ddsf] vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

jh]̂  cg";f/jh]̂  cg";f/
o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f



ldltM 2071.3.3

o; sfofnosf] cf=j=2070.71 sf] 2071 h]i& dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00       5,922,375.00          

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         78,383.00      1=1=3 sd{rf/L sNof)f sf]if 510,000.00        395,370.00           

1=1=5 Jojzfos/ 1,200,000.00       885,185.00     1=1=4 jLdf lk|ldod vr{ 75,000.00         43,400.00           

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 400,000.00        438,000.00          

1=1=6=2 k^s] ;jf/Ls/ 5,000.00          -           1=2=3 j}&s eQf 200,000.00        22,500.00           

1=1=7 ;Dklts/ 1,700,000.00       1,479,906.00    1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 3,000.00          -           1=4 kf]zfs 250,000.00        232,500.00           

1=1=9 lj!fkgs/ 5,000.00          -           1=5 vfBfGg tyf cfxf/ 30,000.00         -                

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00         198,234.00     1=6 cf}iflw pkrf/ 250,000.00        231,750.00           

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00        110,633.15           

1=3=2 gS;fkf; b:t"/ 1,700,000.00       2,205,624.00    2=2 ;Grf/ dxz'n 150,000.00        97,612.95            

1=3=3 l;kmfl/; b:t"/ 700,000.00        761,718.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00        493,736.80           

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         67,100.00      2=5 dd{t ;+Def/ 250,000.00        140,084.00          

1=3=5 cGo b:t"/ 25,000.00         2,065.00       2=6 O{Gwg 200,000.00        201,799.71           

1=4=3 cGo ljqmL 100,000.00        109,400.00     2=6=3 cGo O{Gwg 10,000.00         3,070.00            

1=5=1 ;fj{hlgs lghL ;fem]bf/L -              98,036.00      2=8=1 ;b:otf z"Ns 50,000.00         15,000.00           

1=5=2 cGo ;|f]t kl/rfng 25,000.00         2,800.00       2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          8,600.00       2=8=3 k"/:sf/ 15,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 470,000.00        462,800.00     2=8=4 kl/ifb ;Grfng vr{ 100,000.00        26,020.00            

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        125,335.00           

1=7=5 k]ZsL lkmtf{ 10,000.00         -           3=4 ;fdflhs ;"/Iff cg"bfg 8,830,000.00       5,703,000.00         

1=7=6 cGo ljljw cfo 100,000.00        90,005.00      4=3 k":ts tyf ;fdu|L 10,000.00         2,440.00            

hDdf M 6,249,000.00       6,449,856.00    4=4 sfo{qmd vr{ 1,274,000.00       33,000.00            

v_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        130,345.00           

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,604,000.00       9,604,000.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,300,000.00       629,123.07           

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 18,570,000.00      18,183,000.00   4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00       1,109,966.85          

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       700,000.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        78,320.00           

/lhi «̂]zg b:t"/ 4,000,000.00       3,024,539.89    9=1 e}k/L cfpg] vr{ 10,000.00         -                

1=10 cGo cg"bfg 8,800,000.00       5,403,000.00    11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00         -                

1=13=2 nfut ;xeflutf 25,500,000.00      27,407,852.75   hDdf M 23,764,000.00       16,195,521.53         

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,455,000.00       6,979,198.37     u2=2=2 k'+hLut vr{

1=23 gub -              6=1 kmlg{r/ 20,000.00         20,000.35            

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

hDdf M 69,929,000.00       71,301,591.01    6=5                        52,094,000.00      28,625,571.03         

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 200,000.00        87,989.65           

hDdf M 52,434,000.00      28,733,561.03         

76,178,000.00       77,751,447.01    76,198,000.00      44,929,082.56        

s]zaaxfb"/ >]i&

n]vf clws[t sfo{sf/L clws[t

ljj/)f
jh]̂  cg";f/

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL
o; dlxgf ;Ddsf] vr{



ldltM 2071.4.5

o; sfofnosf] cf=j=2070.71 sf] 2071 cfiff( dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 6,865,000.00       6,485,921.00         

1=1=1 dfnkf]t tyf e'lds/ 20,000.00         -           1=1=2 kbflwsf/L kl/>lds 10,000.00         -                

1=1=3 jxfns/ 50,000.00         103,562.00      1=1=3 sd{rf/L sNof)f sf]if 510,000.00        505,370.00           

1=1=5 Jojzfos/ 1,200,000.00       962,645.00      1=1=4 jLdf lk|ldod vr{ 97,000.00         96,071.90            

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00         -           1=2=1 sd{rf/L eQf 513,000.00         512,600.00           

1=1=6=2 k^s] ;jf/Ls/ 5,000.00          -           1=2=3 j}&s eQf 200,000.00        53,500.00           

1=1=7 ;Dklts/ 1,700,000.00       1,704,748.00    1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00         10,140.00           

1=1=8 dgf]/Ghgs/ 3,000.00          -           1=4 kf]zfs 250,000.00        232,500.00           

1=1=9 lj!fkgs/ 5,000.00          -           1=5 vfBfGg tyf cfxf/ 30,000.00         25,270.00            

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00         198,234.00     1=6 cf}iflw pkrf/ 250,000.00        250,000.00          

1=2=8 cGo ;]jf z"Ns 5,000.00          -           1=2=9 tfnLd sfo{qmd vr{ -              -                

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00          -           2=1 kfgL tyf ljh"nL dxz'n 120,000.00        118,832.56           

1=3=2 gS;fkf; b:t"/ 1,700,000.00       2,420,023.00    2=2 ;Grf/ dxz'n 130,000.00         101,612.95           

1=3=3 l;kmfl/; b:t"/ 700,000.00        841,343.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00        699,863.60           

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00         74,600.00      2=5 dd{t ;+Def/ 250,000.00        247,307.00           

1=3=5 cGo b:t"/ 25,000.00         2,065.00       2=6 O{Gwg 202,000.00        201,799.71           

1=4=3 cGo ljqmL 100,000.00        118,900.00     2=6=3 cGo O{Gwg 8,000.00          3,070.00            

1=5=1 ;fj{hlgs lghL ;fem]bf/L -              98,036.00      2=8=1 ;b:otf z"Ns 50,000.00         15,000.00           

1=5=2 cGo ;|f]t kl/rfng 25,000.00         4,400.00       2=8=2 cfly{s ;xfotf 10,000.00         -                

1=7=1 b)* hl/jfgf 5,000.00          8,600.00       2=8=3 k"/:sf/ 15,000.00         -                

1=7=2 ef*f tyf jxfnjf^ cfo 470,000.00        489,000.00     2=8=4 kl/ifb ;Grfng vr{ 100,000.00        38,520.00           

1=7=3 w/f}^L hkm^ 10,000.00         -           2=8=5 ljljw vr{ 200,000.00        161,530.00           

1=7=5 k]ZsL lkmtf{ 10,000.00         -           3=4 ;fdflhs ;"/Iff cg"bfg 9,320,000.00       9,318,500.00         

1=7=6 cGo ljljw cfo 100,000.00        101,455.00     4=3 k":ts tyf ;fdu|L 10,000.00         4,440.00            

hDdf M 6,249,000.00       7,127,611.00     4=4 sfo{qmd vr{ 1,274,000.00       1,890,000.00         

v_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -              -                

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00        179,270.00           

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,604,000.00       9,604,000.00    4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 810,000.00        15,500.54           

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 18,570,000.00      19,270,000.00   4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00       1,212,035.85          

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00       700,000.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00        24,604.35            

/lhi «̂]zg b:t"/ 4,000,000.00       3,687,508.47    9=1 e}k/L cfpg] vr{ 10,000.00         -                

1=10 cGo cg"bfg 8,800,000.00       9,018,500.00    11=2 jfXoC)fsf] Jofh e"QmfgL -              -                

cfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00         -                

1=13=2 nfut ;xeflutf 25,500,000.00      34,871,852.75    hDdf M 23,764,000.00       22,403,259.46         

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,455,000.00       6,979,198.37     u2=2=2 k'+hLut vr{

1=23 gub -              6=1 kmlg{r/ 20,000.00         20,000.35            

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00         -                

hDdf M 69,929,000.00       84,131,059.59    6=5                        52,094,000.00      51,015,373.60         

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00        -                

9=2 e}k/L cfpg] vr{ 200,000.00        186,538.00           

hDdf M 52,434,000.00      51,221,911.95         

76,178,000.00       91,258,670.59    76,198,000.00      73,625,171.41         

s]zaaxfb"/ >]i&

n]vf clws[t sfo{sf/L clws[t

o; dlxgf ;Ddsf] vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] 

cfDbfgL

ljj/)f
jh]̂  cg";f/


